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-i FIRST TERM GLOBAL TEST- 4° ESO

Exercise 1: (1 pto) Work out and express as an interval:

{x—l]2 —3x2[x+5]2 —5x

Exercise 2: (2 ptos) Work out:
X +Tx+6<0
a
4-x"=0
x—v=0)
b) " -
2x—y=<1]

Exercise 3: (2 ptos) Work out:

_‘E\_::E,
a::l ) )

2xT =3y = ZU}
o xt+17 =26

x* =2y =23

Exercise 4: (1.25 ptos) Work out and rationalize:
JT-5 _
N7+

b)

Exercise 5: (1 pto) Work out:

Vax+l-4fx+1=2

Exercise 6: (1.25 ptos) Work out:
x-2  x'-3 L3
x=5 x =3x-10 x+2

Exercise 7: (1.5 ptos) Simplify and solve this equation:

o 4x —dx —4x _ 3x
 +3x0+2x 5
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